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D EKBZBEH (N) 14 13 10 18 55
Q@ 7 or—rEZEBHE (B 13 12 8 9 42
XKi A (B0 0 0 2 0 2
Tor—rEIE (/D) 929% 923% 800% 50.0% 76.4%
1.HEE=OHEAIZDONT?
(1) B4 8 10 5 7 30 ( 71.4%)
(2) &% 4 2 3 2 11 ( 26.2%)
XEA 1 0 0 0 1 ( 24%)
2.HBDERICONT?
(1) 201K 0 0 0 0 0 ( 0.0%)
(2) 30mEfE 0 0 1 3 4 ( 95%)
(3) 40m%{t 5 1 0 1 7 ( 16.7%)
(4) 50m%fE 4 3 2 1 10 ( 23.8%)
(5) 60m{t 1 3 2 2 8 ( 19.0%)
(6) 70mELLE 2 5 3 2 12 ( 28.6%)
XEA 1 0 0 0 1 ( 24%)
3. SEINBEHRESORHEICOVNTRTEHMYICHRYELED 2 BHEIEHY)
(1) B#EmSLEH 5 6 3 3 17 ( 34.7%)
(2) MBEEDHR—LR— 1 4 1 4 10 ( 20.4%)
(3) BAS-EATASNOMBEER 4 2 4 3 13 ( 26.5% )
(4) FE-2OUEELGE 0 0 0 0 0 ( 0.0%)
(5) ASIILITCHT 0 0 0 0 0 ( 0.0%)
(6) it 4 2 1 1 8 ( 16.3%)
(7) #EEBLL — — — — — -
XiA 1 0 0 0 1 ( 2.0%)
AXHOHREARBR(ERXERE) TLHBTLEMN?
(1) mRETES 1 1 1 4 7 ( 16.7%)
(2) PLEHRBTED 5 4 2 4 15 ( 35.7%)
(3) HFEYmRBTEREL 0 5 4 1 10 ( 23.8%)
(4) ®BmRBTEEL 1 0 0 0 1 ( 24%)
XiA 6 2 1 0 9 ( 21.4%)
5. HDBERMSEICOVWTESBWELEA? GEREIZEHY)
(1) TBOFFTEHA KL 2 2 1 6 11 ( 21.6%)
(2) THOFEHL LKL 3 1 3 2 9 ( 17.6%)
(3) TEOEA KL 1 3 1 2 7 ( 13.7%)
(4) FEOFRIFHA KL 0 0 1 1 2 ( 39%)
(5) FEHOFEIKL 0 0 1 0 1 ( 20%)
(6) FHDOEHA KL 8 7 2 1 18 ( 35.3% )
XiA 2 0 1 0 3 ( 59%)
6.5t BEBESZHEMBLEOSMLETMN?
(1) SmLf=Ly 9 10 7 8 34 ( 81.0%)
(2) SmLf=<AW 0 0 0 0 0 ( 0.0%)
(3) Ly 2 2 1 1 6 ( 14.3%)
XEA 2 0 0 0 2 ( 4.8%)
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